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M oE B OFE X
I & R M= RETHE | BT
EREE AR T
t =15cmBL T 19.62 20 m
ARSI T
t =15cmiB 52.80 53 m
ASEEM T
L=1.2km &
ASEKL D T -
0.25 0.25 mi
B R il
t =15cmBL T 1626.38 1.630| ni
B R il
t =15cmiB 156.70 157| ni
Aslor T :
DT10t L=5.8km t=15cmilTF 74.46 74
Aslor T :
DT10t L=5.8km t=15cmi2 29.77 30 m
NpEFEET \ -
Hehre T 1726.92 1,730 ni
NpEFEET -
AAWET 56.16 56| i
s Ly ica
- t=3cm- B4 MK EAS(PK-3) 1315.80 1,320
s Ly ica
- t=5cm- B4R EAS(PK-3) 48.60 49| ni
s Ly ica
- t=5cm- B4 BRI EAS(PK-4) 205.82 206 ni
s Ly ica
- t=5cm- %S || BBRIAS(PK-4) 156.70 157| o
o T
=T t=5cm- BAE AR EAS(PK-3) 205.82 206| nf
o T
=T t=7cm-ZUE || BUEKIAS (PK-3) 156.70 157| nd
hpE T Ly ica
ENE
t=5cm- BAE R EAS(PK-4) 205.82 206| nf
s T Ly ica
ENE
t=7cm-ZUE || BUEKIAS (PK-4) 156.70 157| nd




ABEL

*ET -
t=3cm-BAEMKIEAS(PK-3) 56.16 56
EfE-H-15cm 28.50 29
EfE &= 15ecm 24.30 24
X EfR T o
+7Z-8-45cm 29.60 30
XKEI-B - 15cmiaE 13.57 14
NF-H-15cmiE 18.64 19
e T
RBFEEB 40.00 40




T A7 7 )VNIWHE K E I E

Vo 7K JILPE B IETIE & WK &
(ni/100m) (m) (m)
0.078 10.6 0.0083
0.104 0.0000
0.130 9.00 0.0117
0.152 0.0000
0.174 0.0000
0.240 0.0000
0.350 0.0000
0.438 52.80 0.2313
7 12.42 0.2513
G 0.25




W= m HB® Gt B B
No. | FEIK tE TE 5 mE(nt) 5 =
@ | &F 2.61 2.71| 11.20 29.79 HWHEL t=3cm
@ | &F 2.73 2.60 6.10 16.26 /
® | &F 2.63 2.77|  33.70 90.99 /
@ | &F 2.75 3.10[ 21.00 61.43 /
® | &F 2.45 2.45  42.15 103.27 Y
® | &F 2.45 2.30| 48.75 115.78 /
@ | &F 2.40 2.45|  47.75 115.79 /
=PiZ 2.45 2.40[  50.00 121.25 Y
@ | &F 2.45 2.45| 58.15 142.47 Y
=PiZ 2.45 2.45  50.00 122.50 Y
@ | &F 2.45 2.40[  50.00 121.25 /
® | =AF 6.05 3.65 11.04 P
® | =Aaw 7.10 0.95 3.37 P
=/ 7.20 1.10 3.96 P
® | =A% 5.37 3.74 10.04 P
B 2.43 2.43|  30.70 74.60 Y
@ | &F 2.40 2.45  44.40 107.67 Y
=PiZ 2.45 2.49  26.05 64.34 Y
E — - — — 1315.80 —
a =07 3.20 3.20| 12.10 38.72| HHMET(AHHET) t=15cm
b =07 2.60 2.63| 12.00 31.38 /
c =07 3.57 3.64| 12.00 43.26 /
d =07 3.57 3.63| 12.28 44.21 /
e =07 3.60 3.70| 13.22 48.25 /
E — = — — 205.82 —
f =07 5.15 6.30 4.45 25.48 MWL t=5cm
g B 6.30 7.30 3.40 23.12 Y
E = — — 48.60 —
X =07 5.70| 17.00 9.80 111.23|  #WmET(AABET) t=19cm
Y =07 3.35 5.90 3.40 15.73 Y
Z =07 7.30| 13.00 2.93 29.74 Y
E — = — — 156.70 —
=PiZ 1.25 1.25 3.90 4.88 ABHEL t=3cm
=PiZ 1.25 1.25 7.15 8.94 Y
@ | RAE 0.98 1.20|  36.00 42.34 Y
E — = — — 56.16 —




M E § =
O #HEEYITT(t =3cm)
261 + 277 + 275 + 2.49 = 10.62 m
UM T (t =5cm)
5.10 + 3.90 = 9.00 m
SEGIWr T (t =19cm)
11.30 + 11.30 + 13.00 + 5.90 + 11.3 = 52380 m
O SRR T (t =15cmiLT)
1315.80 + 4860  + 56.16 +  205.82 = 1,626.38 ni
SRR T (t =15cmiB)
156.70 = 156.70 ni
O Asmiln T
1371.96 x 0.03 = 4116 m
4860  x 0.05 = 243 m
20582  x 0.15 = 3087 m
B 7446 m
156.70  x 0.19 = 2977 m
B 2977 m
O AEEEEIE T (M)
1315.80 + 4860 + 20582 +  156.70 = 1,726.92 ni
REZIET(AND) = 56.16 i
O REBT (##H : t=3cm)PK-3 = 1315.80 m
BT (#H : t=5cm)PK-3 = 48.60
xE - PRBE - ZETLT (t=15cm)PK-3 - PK-4 = 205.82 i
xE - PRBE - £BT (t=19cm)PK-3 - PK-4 = 156.70 m
=EBIL (Ah: t=5cm)PK-3 = 56.16 ni




O BmiZEr
E=4# (t=15cm - B)
5.8 + 22.7 = 28.50

E=4#2 (t=15cm - &)
3.6 + 3.6 + 3.6 + 13.5 = 24.30

+7'5 (t=45cm - H)
20 + 276 = 29.60

2D (t =15cmifaE - A)

5.66 + 7.91 = 13.57
X=Z (t=15cmit&E - BQ)iEENn
18.64 = 18.64

HREET 32.21



